1.5¢10°

1.0¢10°

Clyo o Ll A )

5.0¢10*

FTUA 1Y

N
o
o
o

3000

2000

1000

Flux (10" ergs s* cm? A™Y)

2500

2000

1500

1000

500

Flux (10" ergs s* cm? A™Y)

WISP Survey -- Parl25 1D spectra -- HA Sun Aug 7 03:09:05 2011

Object1 J,;.= H.,,=10.92

IIIIIIIIIIIIIIII

T

lllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object2 J,;,,= Hy,,=14.07
: T T T I T T =
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object3 J;;,= Hy4,,=14.08
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™?)

N
o
o

'_\
a1
o

[EEN
o
o

a1
o

o

al
o

I
o

w
o

N
o

=
o

o

0.0

-1.0

Object4 J,,,= H;4,,=17.00

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object5 J,;,,= H.,,=17.88
g_ W
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object6 J;;,,= Hy,,=18.07
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)

(o]
o

40

20

Flux (10" ergs s* cm™? A™?)

50

40

30

20

10

Flux (10" ergs s* cm? A™?)

= = N
ol o a1 o
o o o o
o o o o

o

Object7 J,;,,= Hy4,,=18.13
_— . 1 . . 1 . . ——-I_—-_—\,\ T n . " I N
8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object8 J,;,= Hy4,,=18.52
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10'18 ergs st cm? AY

Flux (10" ergs s* cm? A™Y)

0.0

-1.0

N
(6]

20

15

10

60
50
40
30
20
10

Object 10 J,,,.= H,,,=18.62

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 11 J,,= H,,,=18.73
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 12 J,;0=  Hy,,=18.77
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



w
o

N
o

=
o

Flux (10" ergs s* cm™? A™?)

o

P P N N W
o o1 o o1 O

Flux (10" ergs s* cm? A™?)

o o

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 14 J,;,,= H,,=18.93
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 15 J,;,= Hy4,,=19.06



=
(&)

=
o

(631

Flux (10" ergs s* cm™? A™?)

o

N N W
o o1 O

=
o

Flux (10" ergs s* cm? A™?)
H
o1

o o

= = N
ol o a1 o

Flux (10" ergs s* cm? A™Y)

o

Object 16 J,;0= H;4,,=19.16

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 17 J;;0= H4,,=19.23
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



e
o N

Flux (10" ergs s* cm™? A™?)

o N B~ O ©

N W
o O

Flux (10" ergs s* cm? A™?)
PR N
o ol o

o »

= =
ol o ol

Flux (10" ergs s* cm? A™Y)

o

Object19 J,;,= H;4,=19.45
:_ T T T T T :I T T T T T T T T _:
- | ]
- | ]
Z | 7
= e
8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 20 J,;i=  Hy,,=19.47
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 21 J ;= H,,,=19.60
__ T T T T : T T T T T T ': T __
B , , i
B ! ! i
N I I ]
| | [ —
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)

=
(&)

=
o

ol

Flux (10" ergs s* cm™? A™?)

o

= =
a1 o o1

Flux (10" ergs s* cm? A™?)

o

Object 22 J,;0= Hy4,,=19.76

—

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 23 J,;0=  Hy,,=19.77
[ T T I T T T ]
- 1 _—
— I -
B | ]
N I ]
| | |
- ] -
s — :
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 24 J ;= H,,,=19.83
T T ] T ] T T T T T T T T T
B I I ]
| | | |
- ] ] -
B | | ]
B I I -
| | | 1
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm™? A™Y) Flux (10" ergs s™* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

1

=
o

0

oSO N B~ OO ©

Object25 J,,,= Hy,,=19.85

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 26 J,,,= H,,,=19.86
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

1200
1000

600
400
200

Object 28 J,;0= H;4,,=20.13

IIIIIIIIIIIIIIIIII

llllllll;llllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 29 J,,= H,,,=20.18
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 30 J,;,= Hy4,=20.19
C | _
C | ]
r | -
: 1 m
r | 7
— I -
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm™? A™Y) Flux (10" ergs s™* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

=
o

(o]

(o))

N

N

o

(o))

N

N

o

N
o

=
(&)

=
o

(631

o

Object 31 J,;,= Hy4,,=20.20

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 32 J,,0= H,,,=20.21
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 33 J ;o= H,,,=20.23
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

Object 34 J,;,,= H,4,,=20.40

(o]

N
I L L L Y

(o))

N

Flux (10" ergs s* cm? A™Y)

o

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 35 J,;,= H4,=20.40
1400 ' ' ' ' '

1200
1000
800
600
400

200
O " 1 " " " 1 " " M 1 M r n ' }
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 36 J,;,= Hy4,=20.48

N

8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10
Wavelength (A)



Flux (10" ergs s* cm? A™Y)

5

N
o
o

w
o
o

N
o
o

[EEN
o
o

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Flux (10" ergs s* cm? A™?)

Flux (10" ergs s* cm? A™Y)

00

o

Object 37 J,;0=  Hy4,,=20.52

IIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

lllllllllllllllll

[INNNENEN] lllllllllll

8.0°10° 1.0-10*

Object 38 J,;o=

1.2¢10*
Wavelength (A)

1.4+10%

H,4,=20.53

1.6+10%

T T

1 " " " 1

T
|
|
|
|
|
|

T

IIIIIIII|II|llllllIl

L TRNRNNRNRNNAT]

8.0:10° 1.0+10%

1.2+10*
Wavelength (A)

Object 39 J;;=  Hyo=20.62

1.4+10%

1.6+10%

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

R

T

l lllllllllllll llllllllllllll

[EENENNEN]

8.0°10° 1.0-10*

1.2+10*
Wavelength (A)

1.4¢10*

1.6¢10*



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

SO B N W ~ O

Object40 J,;0= H;4,,=20.62

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object41 J,;,= H4,,=20.65

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 42 J,.=  Hyo=20.82

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

Object43 J,;,=  H.p=20.83

IIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

INNINRNANN I NRNNRNTT]

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object44 J,,,= H.,,=20.88

IIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T

lllllllllllllllll llllllllllllllllllllll

k

LLILILLIL

1 " " 1 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object45 J, ;=  H.p=20.92

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T

llllllllll

[INNERNEN 5

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)

10

Flux (10" ergs s* cm? A™?)

1.0

0.5

0.0

Flux (10*® ergs s* cm? A

-1.0

Object 46 J,;,= H;4,,=20.92

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

Illllllllll

INENNNNRNN (NN NNNNAT]

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object47 J,;,= H4,,=20.95
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 48 J,,,= H,,,=20.96
_ , -— —
- I ]
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (10*® ergs s* cm? A

0.5

N ESN (o]

o

Flux (10" ergs s* cm? A™Y)

o o
o &

O
o1

e
o

Object49 J,,,= H.,p=20.98

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 50 J,,= H,,,=20.99
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object51 J,;.= H;,,=21.01
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

(o]

Object52 J,;,,= H,,=21.04

T T T T T

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 53 J,;;=  Hy,,=21.07
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object54 J,,= H,,,=21.09
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Object 55 J,;0= Hy,p=21.12

- N w B~

o

Flux (10" ergs s* cm? A™Y)

IIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1
'_\

T T T T T

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object56 J,;,= H,,=21.18

Flux (10" ergs s* cm? A™Y)
o = N w SN (6]

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIllIIIIIIIIIIIIIIIIIIIIIIIIIIII

1
H

T T I T T T

lllllllllllllll Illllllllllllllllllllllllllllllllllllll

|

L

1 1 1

8.0°10° 1.0¢10* 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

N

'_\

o

1
'_\

w

N

H

o

1
H

12
10

SO N B~ OO ©

Object 58 J,;,= Hy,,=21.21

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

?é

T

llllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object59 J,;,,= H,,=21.24

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

LLLLLIIL llllllllll

T T T T

lllllllllllllllllllllllll

1 " " 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 60 J,;;= Hy,,=21.25

IIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

1111 Illlllllllllllllllllll

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A Flux (10"® ergs s* cm™® A™)

Flux (10" ergs s* cm? A™Y)

=
(6]

=
o

ol

o

w

N

[EE

o

1
H

w

N

[EEN

o

1
'_\

Object 61 J,;p=  Hy,p=21.27

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 62 J,,0= H,,,=21.33
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 63 J,;0= Hy,,=21.41
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)

o
&

o
o

S
[

e
o

Object 64 J,;.= Hy,,=21.51

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

INNENEN

llllllllll\illllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 65 J;;;= Hy4,,=21.53
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 66 J;;,= Hy4,,=21.56
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Object 67 J,;0= Hy4,,=21.58

= N

o

Flux (10" ergs s* cm? A™Y)

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1
'_\

T T T T T

llllllllllllllllllll

[ENEENEN (I

1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 68 J,;,= H;,,=21.59

= N w

o

Flux (10" ergs s* cm? A™Y)

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1
H

T T T T

NENNRNNNEENNNENEN] llllllllllllllllllllll

1 " " 1 1

1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 69 J,;,= Hy4,,=21.59

(o))

N

T I T T 1 I T T 1 I T T 1 I T

N

Flux (10" ergs s* cm? A™Y)

o

T T T T T

L1 1 l L1 1 l 1

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
Wavelength (A)



Object 70 J,;0=  Hy4,0=21.59

[l N w

o

Flux (10" ergs s* cm? A™Y)

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1
'_\

T T T T T

lllllllllllllllllllllll

111 lllllll

llllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 71 J,;=  Hy,0=21.64

- N w ESN

o

Flux (10" ergs s* cm? A™Y)

IIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1
H

T T

T T T

lllllllllllllllllllllllll

1 1 1 1

8.0°10° 1.0¢10* 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 72 J;;i=  Hyyo=21.65

=
o

o
&

o
o

o
ol

|
TTTT I TTTT I TTTT I TTTT I T

Flux (10*® ergs s* cm? A

e
o

T

T T T T T

1111 l 1111 l 11

8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)
N

15

1.0

0.5

0.0

-1.0

2.0
15
1.0
0.5
0.0
-0.5

e
o

Objec

t73

Jio=  Hyg=21.65

IIIIIIIIIIIIIIIIIIIIIIIII

llllllllllll lllllllll

8.0°10°

1.0+10%

Object 74 J,,,=

1.2¢10*
Wavelength (A)

1.4+10%

H,,,=21.70

1.6+10%

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1

T

1

T

1

1

LLLELLLLL lllllllllllllllll IlllllllllIllllllllllllllllllll

8.0°10°

1.0+10%

Object 75 J,;0=

1.2+10*
Wavelength (A)

H,,=21.73

1.4+10%

1.6+10%

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

/ llllllllllllllll

8.0°10°

1.0-10*

1.2+10*
Wavelength (A)

1.4¢10*

1.6¢10*



T 20
£ 15
@ 1.0
o
o 05
g 0.0
3 .05
LL
-1.0

D 15

£

S 10

‘n

o 05

@

2 0.0

o

=

x -0.5

m
1.0

Flux (10" ergs s* cm? A™Y)

Object 76 J,;o= Hy,0=21.74

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 77 J,,0= H,,,=21.75
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 78 J,;0=  Hy,0=21.77
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



~ 15

<

£ 1.0

(&)

o 05

o

()]

@ 0.0

o

Ao

< -0.5

>

o
-1.0

Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

N

'_\

o

1
H

N

H

(@)

1
'_\

Object 79 J,;0=  Hy,,=21.78

IIIIIIIIIIIIIIIIIIIIIIIIII

é

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 80 J,,0= H,,,=21.82
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 81 J,;,= Hy4,,=21.85
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

R N W b~ Ol

N )

- N w ESN

(@)

1
H

15

1.0

0.5

Object82 J,;.= H;,,=21.86

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

LU lllllllllllll llllIllllllllllllllllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 83 J,;;= Hy,,=21.87

IIIIIIIIllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1

T T T T

llllllllllllllllllll

LIl llllllllll

lllllllllll

1 1 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 84 J,;,,= H;,,=21.87

IIIIIIIIIIIIIIIIIIIIIIIII

T T

llllllll

i

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (10" ergs s* cm? A™Y)
N

o

(00}

IIIIIIIIIIIIIIIIIIII

(o))

N

15

1.0

0.5

0.0

-1.0

Flux (10" ergs s* cm? A™Y)

SO = N W »~ O

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Object85 J,;,= H;,,=21.88

T T T T T

lllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object86 J, ;=  H;,0=21.90

IIIIIIIIIIIIIIIIIIIIIIIII

T T I T T

1 " " 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 87 J;0= Hy,0=21.91

T

T T T T T

1l llllllllll llllllllllllllllllllllllllllllllllllll

llllllllllllll

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



(0]

IN

IIIIIIIIIIIIIIIII

N

Flux (10" ergs s* cm? A™Y)

o

o
o u o

© o o
o O O

Flux (108 ergs s* cm? A™)

s
)

=
4

=
(=)

o
o

Flux (10*® ergs s* cm? A
o o
(6} (6]

e
o

Object 88 J,;,= H;4,,=21.93

T

llllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10%

Wavelength (A)

Wavelength (A)
Object 89 J,,0= H,,,=21.99
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object90 J,;;= Hy4,=21.99
- LLH\ 3
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*



Flux (108 ergs s* cm? A™)

0.5

N
o
o

300

[EEN
o
o

Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™?)
N
o
o

o

O B N W M~ O O

1
'_\

Object91 J,;,= Hy,,=22.01

T

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*

Wavelength (A)

Object 92 J, ;=  H.p=22.02

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T

1

lllllllllllllllllllllllllllllllll

INENERNNN]

8.0°10°

1.0+10% 1.2.10% 1.4+10%

Wavelength (A)

Object 93 J, ;=  H.p=22.06

1.6-10

4

IIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIllIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

[ITITHTIT] llllllllllllllllllllllllllllllll llllllllllllllllllllllll

8.0°10°

1.0-10* 1.2.10* 1.4¢10*

Wavelength (A)

1.6-10

4



a~ 20

<

= 1.5

(&)

%, 1.0

S

5 05

5 0.0

Ao

X .05

o
-1.0

N
o

=
o

=
(=)

o
o

S
[

Flux (108 ergs s* cm? A™)
o
o1

s
)

Flux (10" ergs s* cm? A™Y)

(o]

(o))

N

N

(@)

Object94 J,,,= H4,,=22.10

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

lllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 95 J,;;= Hy,p=22.12
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 96 J,;;= Hy4,,=22.13
N T T T T T T T | T T T T T T ]
— ] —
C ' ]
- | ]
— |
: |
- |
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)

1.0

0.5

0.0

-1.0

SO B N W ~ O

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

o o =
o 1 o

S
[

e
o

Object 97 J,;0=

IIIIIIIIIIIIIIIIIIIIIIII

lllllllllll

—_— _

lllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 98 J, ;=  H.p=22.19

T T T T

llllllllllllllllllllllllllllllllllllllllll 1 llllllllllllllllll

1 " " 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 99 J,;0= Hy,n=22.22

IIIIIIIIIIIIIIIIIIIIII

Illlllll

1

lllllllll

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Object 100 J,;i= Hy,0=22.24

15

1.0

0.5

0.0

Flux (108 ergs s* cm? A™)

-1.0

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 101 J,;,;= Hy,,=22.25
0.0 ' ' ' ' '

Flux (108 ergs s* cm? A™)

8.0°10° 1.0¢10* 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 102 J,;;=  Hy,=22.29

=
[

=
(=)

o
o

S
[

Flux (10*® ergs s* cm? A
o
(6)]
||||||||||||||||||||||||||||

e
o

8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (108 ergs s* cm? A™)

1.0

0.5

© © & © o o
0o o A N O DN

s
)

Object 103 J,;o=

H,,,=22.29

IIIIIIIIIIIIIIIIIIII

T T

T

=N

e

u

=
1=

g

llllllllll

8.0°10°

1.0+10%

1.2.10%

1.4+10%

1.6+10%

Object 105 J,,=

Wavelength (A)

H,.,=22.35

Wavelength (A)
3 ” E
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%



1.0

0.5

0.0

Flux (108 ergs s* cm? A™)

-1.0

= = N N
o ()] o ol

(62}

Flux (10" ergs s* cm? A™?)

(@)

=
(=)

o
&

o
[

Flux (10*® ergs s* cm? A
o
o

e
o

Object 106 J,;o=

H,,,=22.40

IIIIIIIIIIIIIIIIIIII

T

TT T T T T

llllllll

8.0°10°

1.0+10% 1.2.10%

1.4+10% 1.6+10%

Wavelength (A)

Wavelength (A)
Object 107 J,;i=  Hy,n=22.42
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 108 J,;i=  H,,,=22.42
~ T T T T T T T T T T T T T T —)
— I ]
- 1 -
3 o :
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*



Flux (10" ergs s* cm? A Flux (10"® ergs s* cm™® A™)

Flux (10" ergs s* cm? A™Y)

= N N w
(€3] o (3] o
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=
o

o o

12
10

o N B~ OO ©

Object 109 J,;,;= H,n=22.44

T

lllllllllllllllllllllllllllllll

8.0°10°

1.0+10%

1.2.10%

1.4+10%

1.6+10%

Wavelength (A)
Object 110 J,,= H,,,=22.45
= T T T T T T =
S | 3
= : E
= ! 3
= 1 =
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
— T T T T T T T T T T T —]
— | 3
C | .
— : -
C | .
- | ]
C | .
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.0

Flux (108 ergs s* cm? A™)

-1.0

© o o e
oo O o1 O

Flux (108 ergs s* cm? A™)

s
)

Flux (10" ergs s* cm? A™Y)

Object 112 J, ;=  Hy,=22.47

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 113 J,;,;= Hy,,=22.49
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 114 J ;= H,,,=22.51
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

=
o

Flux (108 ergs s* cm? A™)

2.0

©c o B &
o un o ul

-0.5

=
o

o
&

o
o

S
o

s
)

Flux (10" ergs s* cm? A™Y)

N
o

=
a1

=
o

(62}

o

Object 115 J,;,= H;4,,=22.51

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

lllllllll llllll lllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 116 J,;;=  H;,,=22.52
- S——
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 117 J ;o= H,,,=22.52
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



S a
o o

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Flux (10" ergs s* cm™? A™?)
w
o

20
10
0
1.0
£
o
+ 05
[7)]
[7)]
o
o 0.0
5
< 05
>S5
m
1.0

=
(=)

o
ol

Flux (10*® ergs s* cm? A
o o
(&) o

e
o

Object 118 J,;;= H;,,=22.53

T T T T T

lll llllllIlllllllllIlllllllllllllllllllllllllllllllllllll

‘\..

1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 119 J,;,;= H,,=22.56
3 T
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 120 J,,,=  Hy,,=22.57
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



=N
o O

=
o

Flux (108 ergs s* cm? A™)
© o o
(6] o o1

=
o

O e R s w
O o o wu O

(63}

Flux (108 ergs s* cm? A™)

s
)

=N
Q=

=
o

© o o
(2 I e RN ) |

Flux (10*® ergs s* cm? A

e
o

Object 121 J,;,= H;,,=22.61

IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

Illllllllllllll

lllllllll 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 122 J,,,= H,,,=22.64
3 e
- e LH—HLE
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 123 J,,,= Hy,,=22.64
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)

Flux (10" ergs s* cm? A™Y)

-0.8

e
o

Object 124 J,,,= H,,,=22.66

IIIIIIIIIIIIII

T T T T T

llllllllllll

————
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 125 J,;;= Hy,,=22.67
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 126 Jllo 140:22 68
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (108 ergs s* cm? A™)

)

Flux (10*® ergs s* cm? A*?

0.5

=
ol

=
o

o
&

o
o

PO
o

© © &6 o o o
oo D N O N b

B O
o

Object 127 J,;,.= Hy4,,=22.69

IIIIIIIIIIIIIIIIIII

T T T T T

llllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 128 J,,,= H,,,=22.70
3 L T =
= erlerLJ‘”“J “f o =
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 129 J,;;= Hy4,,=22.70
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

0.5

0.0

=
o

o
&

o
o

S
[

s
)

0.0

-1.0

Object 130 3110 H140—22 71

IIIIIIIIIIIIIIII

lllllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 131 J,,= H,,,=22.71
- A L
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Object 133 J,;;=  H;4,0=22.72

IIIIIIIIIIIIIIIIII

Flux (108 ergs s* cm? A™)

iy,

o

T T T T T T

1

lllllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 134 J,;;= Hy,,=22.72

L g
g o

©c o m
o wu o

o
&

Flux (108 ergs s* cm? A™)

IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

s
)

T T

T T T

lllllllll lllllll

1 1 1 1

8.0°10° 1.0¢10* 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 135 J,;;=  Hy,,=22.73

)
o
~

T T T T T

Flux (10*® ergs s* cm? A*?

0.2

0.0
-0.2
-0.4
-0.6

-0.8
-1.0

IIIIIIIIIIIIIIIIIIIIIIIIIIIII

1.0-10*

llllllllllllllllllll

1.2+10*
Wavelength (A)



Flux (108 ergs s* cm? A™)

2.0
15
1.0
0.5
0.0

-0.5

-1.0

Flux (108 ergs s* cm? A™)

0.0

-1.0

Flux (10" ergs s* cm? A™Y)

Object 136 J,;;= H,,=22.76

= e ————
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 137 J,;,;= Hy4,,=22.76
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 138 J,;;= Hy4,,=22.78
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Object 139 J,;,;= H.,,=22.78

Flux (10" ergs s* cm? A™Y)
o = N w AN (6}

1
'_\

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 140 J,;,= Hy,,=22.80

o - N w ESN ()]
IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIII

Flux (10" ergs s* cm? A™Y)

1
H

8.0°10° 1.0¢10* 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

N EaN (o)} (o]
I|III|III|III|III|III

Flux (10" ergs s* cm? A™Y)

o

Object 141 J,,= H,,=22.81

T

8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

1.0

0.5

°©c o Bk
o u o u

PO
o

o i
o u o

© o o
o1 O O

e
o

Object 142 J,;,,= H,,,=22.82

IIIIIIIIIIIIIIIIIIII

T

llllllll

8.0°10°

1.0+10%

1.2.10%

1.4+10%

1.6+10%

Wavelength (A)

Wavelength (A)
Object 143 J,,= H,,,=22.83
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 144 J,,,= H,,,=22.83
- , — —
= l l =
- | | ]
- [ [ =
= : : =
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*



Flux (108 ergs s* cm? A™)

=
o

o
o

o
o

O
o1

=
o

Flux (108 ergs s* cm? A™)

o o
o Ul

o
ol

s
)

Flux (10" ergs s* cm? A™Y)

Object 145 J,,,= H;4,,=22.85

IIIIIIIIIIIIIIIIIIIIIIII

T T T T T

1
WUWW :
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 146 J,,,= H,,,=22.88
"_ IJ] i [LI J]L /'/_/_j
B J W L ]
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 147 J ;o= H,,,=22.88
- T T T T T T T T T T | T T —
= | 3
- I 3
= I =
- I 3
- | -
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.5

0.0

Flux (108 ergs s* cm? A™)

= =
o o

o
&

Flux (108 ergs s* cm? A™)

o
&

Flux (10*® ergs s* cm? A
o o
(6)] o

e
o

Object 148 J,,,= H,,,=22.89

IIIIIIIIIIIIIIII

T T T T T

lllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 149 J,,,= H,,,=22.90
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 150 J,;o= H, ,,=22.91
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)
=

0
1

<

C 05

(&]

FI|(J)

2 0.0

)

S 05

X

>

T
1.0
1.0

o
ol

Flux (10*® ergs s* cm? A
o o
(6)] o

e
o

Object 151 J,;;= H;,,=22.91

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

NN lllllllllllllllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 152 J,;,;= Hy4,,=22.95
- = ]
: i 1 i i 1 i i i 1 i i i 1 J.-| i i 1 :
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 153 J ;o= H,,,=22.97
- —— /f_j
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Object 154 J,;;=  H;4,,=22.97

Flux (10" ergs s* cm? A™Y)

IIIIIIIIIIIIIIIIIIIllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

%

llllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 155 J,;,,= H,,=22.98

=
(=)

o
&

o
o

o
&

IIIIIIIIIIIIIIIIIIIII

Flux (108 ergs s* cm? A™)

s
)

T T

T

Illllll

X

1 1 1 1

8.0°10° 1.0¢10* 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 156 J,;,= Hy,,=22.98

°©c o kBom
o wu o u

S
[

Flux (10*® ergs s* cm? A

IIIIIIIIIIIIIIIIIIIIIIIIIII

e
o

T T T T T

Illllllllllll

llllllllllll

8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
Wavelength (A)



Flux (10" ergs s* cm? A™Y)

o
N

_1)

A
o
N

0.0
-0.2
-0.4
-0.6
-0.8

Flux (108 ergs s* cm™

s
)

Flux (10" ergs s* cm? A™Y)

Object 157 J,;i= Hy4,,=22.99

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

lllllllllll

lllllllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 158 J,;,= H;,,=23.01

IIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T

llllllllllllllllll

1 " " 1 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 159 J,;,=  Hy,=23.01

IIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

IlllllllllIlllllllllllllllllllllll

LULLLILEER LIt

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

=
4

=
(=)

o
&

o
o

RO
o wul

=
O

o
&

o
o

S
[

s
)

0.2

o
o

-0.2
-0.4
-0.6
-0.8

e
o

Object 160 J,;;=  H,,,=23.02

IIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

lllllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 161 J,,,= H,,,=23.03
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
r I I
| WLHJHHW Wﬁ
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



°©c o = B
o wu o u

O
o1

Flux (108 ergs s* cm? A™)

=
o

=
o

=
o

o
o

S
[

Flux (108 ergs s* cm? A™)
o
(6)]

s
)

Flux (10*® ergs s* cm? A
S o o p g
(6)] o o1 o o1

e
o

Object 163 J,;,= H,,,=23.03

IIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

lllll

lllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 164 J,;,,= H.4,,=23.05
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.0

Flux (108 ergs s* cm? A™)

-1.0

© © O +r B N
o0 O o1 O U1 O

Flux (108 ergs s* cm? A™)

s
)

=
o

o
&

S
[

Flux (10*® ergs s* cm? A
o
o

e
o

Object 166 J,,,= H,,,=23.07

IIIIIIIIIIIIIIIIIII

T T T T T

1

lllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 167 J,;,,= Hy4,,=23.10
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 168 J ;o= H,,,=23.10
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)

1.0

0.5

o
Ul

o
o

S
[

e
o

Object 169 J,;,= H;,,=23.11

IIIIIIIIIIIIIIIIIIII

T T T T T

llllllll

N
! ]
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 170 J,,= H,,,=23.11
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 171 J ;o= H,,,=23.12
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

1.0

> 05

<

£

o

%, 0.0

[7)]

o

(]

S -0.5

)

X

>S5

m
1.0

Flux (10" ergs s* cm? A™Y)

© © © © o o
0o o b N O N

Object 172 J,;,.= Hy4,,=23.13

IIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

llllllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 173 J,,= H,,,=23.15
- T T T I T I T
— | |
» | |
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 174 J ;= H,.,,=23.15
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



A"
© o o
o N D

-2

Flux (10 ergs s™* cm

Flux (10" ergs s* cm? A™Y)
H

-0.2
-0.4
-0.6
-0.8

s
)

Object 175 J,;,.= H.4,,=23.16

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

Illlllllllllllllllll

LULLErrr gttt

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
_ T T T T LI | -
:_ | _:
L [
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 177 J,,=  Hy,,=23.22



Flux (108 ergs s* cm? A™)

0.5

0.0

-1.0

Flux (108 ergs s* cm? A™)

-1.0

Flux (10" ergs s* cm? A™Y)

N
o

N w
o o

=
o

o

Object 178 J,;i=  H;4,0=23.22

IIIIIIIIIIIIIII

I

i
I
| =
11 1 1 I 11 1 1 §ll 1 I

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 179 J,,= H,,,=23.22
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 180 J,;0= H,,,=23.24
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.5

Flux (108 ergs s* cm? A™)

I
o u1 o

© o o
o O O

Flux (108 ergs s* cm? A™)

s
)

= o )
(@) ] (@] (@) ]

Flux (10*® ergs s* cm? A

e
o

Object 181 J,;,;= H,,,=23.26

IIIIIIIIIIIIIIIIII

T T T T T )

D
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 182 J,,,= H,,,=23.27
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 183 J ;= H,,,=23.28
- Mfﬂ%’“ﬁ :
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)

0.0

-0.8

s
)

=
[

=
o

o
&

o
o

O
o1

e
o

Object 184 J,,,= H,,,=23.28

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 185 J,,,= H,,,=23.30
__ T T T |_| T T ]
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 186 J,;,= H,,,=23.31
n | ]
C | ]
— WMM
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



2 1.0

§

- 05

[7)]

2]

o

o 0.0

5

;’ -0.5

>

L
-1.0

P

= 05

o

FI|(J)

® 0.0

@

S 05

X

>S5

o
-1.0

o
ol

Flux (10*® ergs s* cm? A
o o
(&)} o

e
o

Object 187 J,;,= Hy,,=23.33

IIIIIIIIIIIIIIIIIIIIII

T T T T T

llllllllll

lllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 188 J,,,= H,,,=23.35
T T T T I T
B I ]
- 1 .
~ : ]
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 189 J,;,= H,,,=23.35
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



(00}

(o))

N

Flux (10" ergs s* cm? A™Y)
N

o

=
(=)

o
&

o
[

Flux (10*® ergs s* cm? A
o
o

e
o

Object 190 J,;,= H,,=23.36

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

%ﬁ murﬂwuﬂmﬂ 1

o 1] -LI_|1.|

lllllllll

lllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 191 J,;;=  H;,,=23.37
— T T T T T T —
C ' ]
- | .
C : ]
‘_ I ]
- ] -
C | ]
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 192 J,,,= Hy,,=23.37
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.5

0.0

Flux (108 ergs s* cm? A™)

o o =
o a1 o

O
[

Flux (108 ergs s* cm? A™)

s
)

) ) o
(@)] o (@) ]

Flux (10*® ergs s* cm? A

e
o

Object 193 J,;,= Hy,,=23.40

IIIIIIIIIIIIIIII

T T T T T

]

lllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 194 J,,,= H.,,=23.40
- T T .
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 195 J,;,,= H,,,=23.44
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

0.0

-0.8

=
o

o o
o &

S
[

s
)

© © 6 6 o o o
0o OO B N O N DM

e
o

Object 196 J,;,= H,,,=23.46

1

:

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 197 J,,= H,,,=23.47
L L ’J]HILIH 1
B T Iy a
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 198 J,;,= H,,,=23.49
3 - WWMW“% :
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

© © © & o o o
0o O A N O N b

=
o

-0.8
-1.0

0.2
0.0
-0.2
-0.4
-0.6
-0.8

e
o

Object 199 J,;,= H,,,=23.50

IIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

lllllllllllllllllll Illlllll

Wavelength (A)

8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 200 J,,= H,,,=23.51
:_ nﬂﬂﬂ 1 |J-| JI I‘H :
- NHU” \FHJJW LJJ”HJ Pl .
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 201 J,;i=  H;4,,=23.52
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*



1.0

0.5

Flux (108 ergs s* cm? A™)
o
o

o o
o &

O
o1

Flux (108 ergs s* cm? A™)

s
)

=
o

o
&

S
[

Flux (10*® ergs s* cm? A
o
o

e
o

Object 202 J,;,= Hy,,=23.60

T

- I — ]
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 203 J,,= H,,,=23.62
N ATl T [y e ] W
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



N B~ (o))

o

IIIIIIIIIIIIII

Flux (10" ergs s* cm? A™Y)

o o
o &

O
o1

Flux (108 ergs s* cm? A™)

s
)

=
(=)

o
&

S
[

Flux (10*® ergs s* cm? A
o
o

e
o

Object 205 J,;,= H,,=23.65

T T T T T T

llllllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 206 J,,,= H,,,=23.65
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

0.5

0.0

-1.0

o
&

o
o

S
[

s
)

o
N

o
o

-0.2

-0.4

-0.6

-0.8

e
o

Object 208 Jug=  Hixg=23.69

IIIIIIIIIIIIIII

lllll

WWWMH

lllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 209 J,,,= H,,,=23.70
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 210 J,;;= Hy4,,=23.70
:_ n Nmn nLrﬁhﬂﬂﬁEjlﬂﬁﬁé
- ‘LJJULJ”HIIF Wm; i .
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



2.0
15
1.0
0.5
0.0
-0.5

Object 211 J,;o=

lllllll

Flux (108 ergs s* cm? A™)

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

ﬁ

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 212 J,;;= H,,=23.71

o
~

_1)

T T T T

’ﬁw |-|"'II'In e b

lllllllll

-0.2
-0.4
-0.6
-0.8

s e

IIIIIIIIIIIIIIIIIIIIIIIIIIIII

Flux (10 ergs s* cm? A

llllllllllllllllll

1 " " " 1 " " 1 1

8.0°10° 1.0¢10* 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)

Object 213 J,;i=  H;4,,=23.72

T T T T T

0.4
0.2
0.0
-0.2
-0.4
-0.6
-0.8

Flux (10*® ergs s* cm? A

e
o

IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

llllllllllllllllllll

1.2+10*
Wavelength (A)



H-< 4
£ 3
‘_I'(/J
o 2
o
& 1
o
=)
x 0
>
m
-1
P
o 0.5
£
o
FI'U)
o 0.0
@
2 -0.5
X
>S5
m
1.0
__ 15
<
= 1.0
(&)
©w 05
w0
o
s 0.0
o
)
< -0.5
>
m
1.0

Object 214 J,;;= H;4,,=23.72

T T T T T

T

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 215 J,,,= H,,,=23.77
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 216 J,;,= Hy4,,=23.78
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

0.0

-1.0

o o =
o a1 o

O
o1

s
)

© O © &6 o o o
0o O A N O N D

e
o

Object 217 J,;,i=  Hy4,,=23.79

IIIIIIIIIIIIIIIIIII

T T T T T

lllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 218 J,,,= H,,,=23.82
o :
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 219 J,,,= Hy,,=23.84
3 mrﬁfﬁwﬁﬂr@
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (108 ergs s* cm? A™)

=
o

s
)

Flux (10" ergs s* cm? A™Y)

o

o
o u o

© o o
o1 O O

© © &6 & o o
0o o A N O DN

ESN » (o¢]

N

Object 220 J,;,= H,,,=23.85

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

T

lllllllll llllllllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 221 J,,,= H,,,—23.86
- T T T T T T
: T
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

-1.0

) ) )
()] o (@) ]

Flux (108 ergs s* cm? A™)

s
)

=N
=)

=
o

o
o

Flux (10*® ergs s* cm? A
o o
(6)] (6]

e
o

Object 223 J,;;=  H;4,,=23.87

IIIIIIIIIIIIIIIIIII

W T Ay

1

lllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10%

1.6+10%

Wavelength (A)

Wavelength (A)
Object 224 J,,,= H,,,=23.87
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 225 J ;o= H,,,=23.88
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*



-1

A
o
N

0.0
-0.2
-0.4
-0.6

-0.8
-1.0

Flux (108 ergs s™* cm™

0.4
0.2
0.0
-0.2
-0.4
-0.6
-0.8

Flux (108 ergs s* cm? A™)

s
)

o
ol

o
[

Flux (10*® ergs s* cm? A
o
o

e
o

Object 226 Jug=  Huo=2389

- uy H R g
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 227 Jllo H,,,=23. 89
il T T I T ]
C | -
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 228 J,,,= H,,,=23.90
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



1.0

0.5

0.0

Flux (108 ergs s* cm? A™)

-1.0

o = o
(@) ] o (@) ]

Flux (108 ergs s* cm? A™)

s
)

. I g
o u o

Flux (10*® ergs s* cm? A
S o o
o1 o o1

e
o

Object 229 J,;,,= H,,,=23.90

T T T T T

:_ |-|'| ) nr o ] — .
- JWMWU A LY
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)

Object 230 J,,= H,,,=23.92
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (108 ergs s* cm? A™)

© 6 &6 & o o
0o O A N O N

0.5

s
)

Flux (10" ergs s* cm? A™Y)

Object 232 J,;i= H;4,,=23.94

T T T T T

lllllllll

n i i
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 233 J,,= H,,,=23.95
:_ ) IJ-I-w M n ’J-|'1 n :
: Vel T W g
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



-18 -1 2 pA-1
Flux (107" ergs s~ cm™ A™) Flux (10" ergs s cm A™Y)

Flux (10*® ergs s* cm? A

0.5

1500

=
o
o
o

500

=
ol

=
(=)

o
ol

o
o

PO
o

Object 235 J,;;=  Hy,,=24.00

IIIIIIIIIIIIIIIIII

T

;

lllllllllﬁ—dlllllll

Wavelength (A)

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 236 J,,,= H,,,=24.02
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 237 J,;0=  H;,,=24.02
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*



Object 238 J,;,=  H,,,=24.03

15

1.0

0.5

0.0

-0.5

Flux (108 ergs s* cm? A™)

IIIIIIIIIIIIIIIIIIIIIIIIIII

%

-1.0

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 239 J,;;=  Hy,,=24.05

N
)]

o &6 o
IIIIIIIIIIIIIIIIIIIIIIIII

ol

Flux (10" ergs s* cm? A™?)

o

T T

llllllllllllllllllllllll

1 " " 1 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 240 J,,,= Hy4,,=24.06

o
&

o
o

IIIIIIIIIIIIIIII

Flux (10*® ergs s* cm? A
O
o1

e
o

T T T T T

llllll

lllllllll

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



15

1.0

0.5

0.0

-0.5

Flux (108 ergs s* cm? A™)

-1.0

0.0

Flux (108 ergs s* cm? A™)

0.4
0.2
0.0
-0.2
-0.4
-0.6
-0.8

Flux (10*® ergs s* cm? A

e
o

Object 241 J,;,,= H,,,=24.07

IIIIIIIIIIIIIIIIIIIIIIIIIII

T T T T T

lllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 242 J,,,= H,,,=24.09
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 243 J,;,= Hy4,,=24.09
- : -— -
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.5

0.0

Flux (108 ergs s* cm? A™)

-1.0

© O © 6 o o o
0o O A N O N D

Flux (108 ergs s* cm? A™)

s
)

© o o r
oo O O O O;

Flux (10*® ergs s* cm? A

e
o

Object 244 J,,,= H,,,=24.10

IIIIIIIIIIIIIII

T T T T T

llllllllll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 245 J,,,= H,,,=24.10
E_ |-L|_|'| II| o .n W[E
i g T L E
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 246 J,;,= Hy4,,=24.13
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)

o

(0]

N

N

IIIIIIIIIIIIIIIII

lllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 248 J.,,= Hy,=24.14



0.5

0.0

Flux (108 ergs s* cm? A™)

o o
o &

S
[

Flux (108 ergs s* cm? A™)

s
)

Flux (10*® ergs s* cm? A
© o o p p
(6)] o (6)] o (6]

e
o

Object 250 J,;i= Hy4,,=24.15

IIIIIIIIIIIIIIIII

T

lllllllllI%lT;?llll

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 251 J,,,= H,,,=24.16
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



© © & & o o
0o O b O O DN

Flux (108 ergs s* cm? A™)

=
o

s> 20
15
1.0
0.5
0.0

-0.5
-1.0

Flux (10 ergs s* cm? A

© O © &6 o o o
0 O B N O N b

Flux (10*® ergs s* cm? A

e
o

Object 253 J,;,,= H,,,=24.18

1

1

3 biﬁuﬁumﬂﬂﬂn P g s 0
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 254 J,,,= H,,,=24.19
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 255 J ;0= H,,,=24.20
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

=
o

Flux (108 ergs s* cm? A™)

s
)

Flux (10" ergs s* cm? A™Y)

o
o

o
&

© © &6 6 o o o
O O A N O DN DM

=
o

o
&

Object 256 J,;;= H,,=24.23

- , —_— -
- [ =
5_ %ﬂwﬂl il .
- I H Cllm e .
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 257 J,,o= H,,,=24.24
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 258 J,;,,= H,,,=24.24
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



AY

© O 66 & o o o
0 O A N O N DM

Flux (108 ergs s™* cm™

Flux (108 ergs s* cm? A™)

Flux (10*® ergs s* cm? A

=
o

0.4
0.2
0.0
-0.2
-0.4
-0.6

-0.8
-1.0

-1.0

Object 259 J110

Hig=24 29

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6-104
Wavelength (A)
Object 260 J,,,= H,,,=24.35
3 ; ufﬁﬂf‘ﬁ
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 261 J,,,= H 4,,=24.36
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.5

Flux (108 ergs s* cm? A™)

© o o e
oo o o1 O

Flux (108 ergs s* cm? A™)

s
)

0.0

Flux (10*® ergs s* cm? A

-1.0

Object 262 J,;,,= H,,,=24.36

8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 263 J,,,= H,,,=24.36
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 264 J,,,= H,,=24.37
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



1.0

0.5

Flux (108 ergs s* cm? A™)
o
o

= N w N
° ° . .
= = = =
o o o o
k) k) k) k)

Flux (10" ergs s* cm? A™?)

o

0.5

Flux (10*® ergs s* cm? A

Object 265 J,;,,= H4,,=24.40

IIIIIIIIIIIIIIIIIIII

T T T T T

lllllll

/

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 266 J,;,= H;,,=24.44
= T T T T ' =
E 1 g
= [ =
= ! 3
= I =
= ' -
= . 3
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 267 J,;,= Hy4,,=24.46
_ , - -
B ' ]
3 e Ay
~ e ]
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y)

o o o
(@) ] o o1

Flux (108 ergs s* cm? A™)

s
)

o = o
(@) ] (@] o1

Flux (10*® ergs s* cm? A

e
o

Object 268 J,;;=  H,,,=24.47

T

8.0¢10° 1.010* 1.2¢10* 1.4¢10* 1.610*
Wavelength (A)
Object 269 J,,,= H,,,=24.48
5 y MHMMW
— " u -
8.0+10° 1.0¢10* 1.2¢10" 1.4¢10" 1.610*
Wavelength (A)
Object 270 J,;;=  Hy4,,=24.49
C T T T T T TT T T T T T T T T -
— |
- |
8.0+10° 1.0¢10* 1.2¢10" 1.4¢10" 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (108 ergs s* cm? A™)

1.0

0.5

=
4

=
(=)

o
o

o
o

O
o1

s
)

Flux (10" ergs s* cm? A™Y)

Object 271 J,;;=  H;,,=24.52

T T T T T

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 272 J,,,= H,,,=24.57
- TTThe—— .
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 273 J ;o=  Hy,,=24.57
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

Flux (10*® ergs s* cm? A

Flux (10" ergs s* cm? A™Y)

O B N W M~ O

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=
o

o o
o a1

O
o1

s
)

-0.8

e
o

Object 274 J,,,= H.,,=24.59

T T T T T

LU llllllllllllllllllllllllllllllllllllllllllllllllllllllll

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1 6-104

Wavelength (A)

Object 275 J,;;= Hy,,=24.62

IIIIIIIIIIIIIIIIIII

T T T T

llllllllll

1 " " " 1 " " " 1 " " " 1

8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)

Object 276 Jm: H140:24.63

IIIIIIIIIIIIIIIIIIIIIII

T T T T T

P TP i

|

lllllllllllllllEL—I

8.0°10°

1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

0.4

© 6 6 &6 o o
0 O A N O DN

=
o

°©c o B e
o wu o u

PO
o

0.0

-0.8

e
o

Object 277 J,;0=  Hy,0=24.67

T T T T T

11

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 278 J,,,= H,,,=24.69
3 —=
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 279 J,;;= Hy4,,=24.76
- [ ) ik
‘ W YA
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



0.0

-0.8

Flux (108 ergs s* cm? A™)

-1.0

0.2

0.0
-0.2
-0.4
-0.6
-0.8

Flux (108 ergs s* cm? A™)

s
)

) ) o
()] o (@) ]

Flux (10*® ergs s* cm? A

e
o

Object 280 3110 H140—24 77

T

3 MWM HH[ MW W
8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 281 J,,,= H,,,—24.86
o hrwm&wn”mwﬂ H]u -
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 282 J,,,=  Hy4,,=25.07
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (108 ergs s* cm? A™)

© 6 6 & o o o
0o O b N O N b

=
o

Object 283 J,;,,= H,,,=25.08

T

llllllll

T r e AL
|-r| =1}

Wavelength (A)

- Iy
: e
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*



